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Notes and Guidance Varied Fluency

Children subtract numbers, within 20, crossing the 10. . Complete the number sentences to describe what happens to the
Children begin to understand the different structures of sweets.
subtraction (taking away, partitioning, difference).

Then __ sweets were eaten.
They use concrete manipulatives and pictorial methods to il, Now there are __ sweets.

support their understanding. D D _D

One of the most difficult concepts for children is finding the
difference where they subtract to calculate how many more. W There are 12 cars in the car park. @
5 of them are blue.

Mathematical Talk How meny are red? QO

How do the counters and bar models help you to subtract? D_ D _C]

__of the cars are red.

A Adam has 13 playing cards.
Oliver has 5 playing cards.
How manv mare cards dnes Adam have?
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First there were __ sweets.

Which method would you use to show your thinking and why?

Did you count forwards or backwards? Why?
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Reasoning and Problem Solving

Max has 12 balloons.
5 of the balloons burst.
How many are left?

Max has 12 balloons.
5 of the balloons are red.
There rest are blue.
How many blue balloons does Max have?

C Max has 12 blue balloons and 5 red
balloons.
How many more blue balloons than red
balloons does he have?

Which method would you use to solve
each problem? :

Amir has 16 apples. Ron has none.
Amir gives Ron 9 apples.

Who has the most apples now?
Explain how you know.

Look at the following objects.
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Teddy works out these calculations.

15-4=___
B-1=

N-4=__

What question could he have asked each
time?





